m—amna e =t

S SN . . * . ' . ' S tanCCS."
“;“ “$he is accustomed ;_____doingwork_undcr any circumsiant

(a) in

(b) with I U LT,
(c) of o RO
(d) to IR L e

. - ‘. ' : . '_‘ ‘
o I f .\ . ,.;. .
1 OI.hat? ' ; LI L e
2. How many times ‘._“D‘?t‘rkf’_‘}" Srs LS, sl =R
I T . -—
(2) havenot[toldyou =~ P - -,

(b) Itold you . - o o
(c) haveltold you S AP b e -
(d) havel told N R

3.  The poor conditions that some people live in can only be dcscnbcd as the

condition of misery of our human predicament.
(a) dejected |
(b) object | o
(©). rejested . JE
(d) ab.ject | . —

—

\\

]
-
S

— i

4.  1don’t mind eating hostel food as anything is __to prcpﬁﬁ_{_\g it on one’s

own. . : . : =t

(a) preferable :;, - :;':-*
() preferred EE Ty
. 23 g -——

(©) prefering . .. - L e

.. Wéhavtahf‘t;imad_;‘_'news ﬁ'ogrifg:ﬁ';'félie_ﬁt' T . o,
(@) none '

JCCO/A . o
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WYL Do not bite off more than you can
S (a) digest
e . (b) chew
= (c) taste

i (d) swallow

arrived for you this moming.
. (a) Fumniture
- (b) A furniture
(c) Some furniture
(d) Some furnitures

8.  Tenyearsagol. sitting in a small dirty office facing the river.
" (a) was ’ ‘
(b) sat
(c) had kgen

" (d) have? cen

9. . The passive of T must hel-p them
(@) They must help me
.(b) They must get help from me
(c) They must be helped by me

(d) They would have to be helped by me ' ')
10. Aims and objectives occasionally be modified or changed,
obviously. _
(a) should not y
(b) haveto
(©) ‘'should not havgto
(d) ought
UCCO/A 3 ' [P.T.0.
| MYFOOT.COM
' W ROTESMYFOrT.cOM
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12.

13.

14.

15. " Her rucnon to his prOPOSll Wﬂ’ —a?

'I'hey couldn’t answer any of the qucshons. T they?
(a) can .

(®) couldnt Coo

(c) could .

@ cot T

Choose tht; synonym of sagacious

(e) accessibly grasping
®) truthful o
(c) lustful
(d) discemning

éhoosc the meaning of the giveén idiom or phrase

The gift of the g2b

T -

(2) an unexpected game R
(o) “fiueacy ofspeech

(c) thought provoking OfaTicr
(@ aX-masgif

(a) Join }:" G -
() Seatch i . - SRR
(6 Abandon oo e : R

(d) Venture L e s

Sh‘ refected it __———*

(u) mmtable-vehemcntly o " | K L g-i'.
(b) ‘subtle-violently . ~ ° . L SR

' ' g i
(c) clever-abruptly L ‘ |

) sympathcﬂc-mgnly ST
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'16. Personally, I ﬁnd these rcasomng puzzles too

| WP

and prefer simpler

~ maths problems. .
(a) abject- ||
' . " MYFOOT.COM
(b) abortive W W nOTESmMYFO0T.cOM
{c) absiruse

(d) absolve

b b S '

17. They borrowed a bike so it would be casier to

(a) getcn
" (b) getaround
(c) getin’
(d)- getup

.
-t

18.. At sixes and sevens means
(a)‘ in disorder -
(b) in order ‘ %
(¢) happy -
(d) sad B

19. The synonym of macabre
(a) innocent

'(c'i" gruesomé
@ pleasms '

(3) to e
®) at
(c). on

(d) for

the country area.’

Al
W

'20. A good Judge aever gropes the conclusion.
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22,

23.

" {c) am going to call
(d) call

| Acquisition of certain rpecific s}

The antonym of nrovocative
(a) angry

(b) soothing’
(c) dampening
(d) motivating
Wait here until I you.
(a) will call

(b) am calling -

"

\

The grammatically correct sentence is -
(a) Fish swim of every kind in the sea

"(b) Fish in the sea of every kind swim in the sea

(c) Fish of every kind swim in the sea
(d) Every kind of sea swim in the fish

3

Replace the updcr!inéd part

ifie si'_(i!]s: Mﬂimted from genen_l :
rg}o novel situations. .

-

-————

awareness; education and exposu
(a) can be fucilitated by - S F

"(b) may facilitated thirough S
(©) can be felicitated with . Lo \

; (d) ma-ybe facilitated |\ : o e e

- '-‘ . * . ." 2 "
s ‘ - - ) *

PRV V.7.V N
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25.

26,

27.

28.

UCCoya

(@ XandY as Rs. 3,000 and Rs. 1,000 respectively

(a) More equity less debt

The rcportcd specch of | |
‘No’, said the child, ‘I won’t kneel for if I do. I shall 5poil my ney p
trousers’ is -

(a) The child said that he would not kneel for if he did so he wiy spe
new pair of trousers

(b) The child said that he will not kneel for if he kneels he will not lme'
if he kneels he will spoil his new pair of trousers

() The child said that he would not kneel for if he did so he would spe
. new pair of trousers

(d) yThe hild said that I will not kneel for if he did kneel, he should spoi
new pair of trousers
Vo |

Which of the following is not a method of valuation of goodwiil 7
(a) Average profit method
(b)" Annuity method - -
{(c) Capitalisation method’
(d) Abnormal loss method

X and Y are partners sharing profits in the ratio of 32:1. They :édm.t Z as
partner who pays Rs. 4,000 as goodwill. The new profit sharing ratio bet

2:1:1 among X, Yand Z respectwely The amount of gcoawill will be credn
to :

® Xonly | s
(c) Yonly. - . ¢ :

(d) z°“'|'} | ‘ ST -;...,_..;-_.

High capital gcanngratlo means e B

(b) Less equity more debt

() More equity less preference

(d) Less equity more preference | '
|| MYFOOT.COM 7 ' '(F O
WV, nOTESm/YanvT cOM
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29. How wxll you dcal ‘lcgacy inaccounts of a ‘Not-For-Proﬁf Organisation™?

(@) Added to Capital Fund
(b) Debited to Income and Expenditure Account
(c) Shown on the asset side of Balance Sheet

(d) Credited to Income and Expenditure Account
: l
‘J

B

30. Shares of any company can be sold and purchased in multiples of imch |
multiples of 50, 10 or 05. This types of shares lot is trading lot. But if these.
share are not sold and purchased in the abovc mentioned multnplcs dx:n.ﬁr.-y

arecalledas - . -, .:
(a) Putoption. -

(b) Stag

(c) Oddlots

(d) Kerbtading

31. Afiter the redemption is over, the entn'e balancc in “Debenture Rcdcnptnl
Reserve” is transferred to
(@) Geueral Reserve
(b) Capital Reserve
(c) Rwerve Capital-
(d Statemento ProﬁtlndLoss

What will te the "Rctum on lnvstment" if net profit after interest and e is
Rs. 6,00,000, tG%debenmraRs. 1000000 taxratess40‘/o and ‘capital .
émployedsts.SOOOOOO ) .

. (a) 13.65% ... ) |
() 13.75% o SR
(©) 13_.85%:3" ' R R
(d) 1395% = .. T L

32,

—ew e smee’.
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34.

A

thx‘x a Partncr‘is'.g:ivcn a guarantee by the other par:her, foss on 51
guarantee will be borne by ' o

(a) panncrshib firm

(b) allthe other partners

(c) partner who gave the guarantee

(d) partner with highest profit-sharing ratio

A company may issue share.

(a) Equity
(b) Preference.

- (c) Both equity and preference

35.

36.

(d) Prospectus of equity

Small amounts receir ed on acc Junt of legacy may be taken to

(2) Balance Sheet

(b) Income and Expenditure Account

(c) Profitand Loss Account :
(d) None of the above

quundlty ratios are calculated to measure the
(a) Long-term solvency of the business
(b) Short-term solvency of the business
(©)° Medium-term solvency of the business

- (d) Noneofthe above " /

37,

Which of the ratio is uscd for long—texm solvency position of the company

(=) Current ratio-

.“‘ ('o) quuldltyrano L "_~ || ,‘ : .

(c) Debtors tumover ratio rYRoOT cort

(d) Debt-equity ratio W nOTESMYfO0T.cOM
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Wluch of the f'ollowmg is not a capntal receipt 2
(a) Life mcmbcrship fee '

(b) Tc rmament fund

(c) chacy . .

(d) Entrance fee

in a firm sharing profits in 4:1 ratio. They admitted P asa

39. Dand S are partners
acquired wholly from D. The

~ new partner for %4 share in the profits, which he
‘new profit sharing ratio of the partners | will be
(a) 11:4:5
®) 4:11:5
() 5:11:4
(d) 11:5:4

40. Premium received on issue of shares cannot be utilized

N

(a) for the ‘ssue of bonus shares
(b) for writing of preliminary eXpensw
(c) for providing premium payablﬂ on redempnon

(d) for dx;tnbutnon of dividerd i .__s.._ e

P
e d Ten T i Do W
-_—

-

41. While calculatmg gross profit ratio
(a) Closing stock is deducted from cost of goods sold A
. (b) Closing stockis addeu io cost of goods Sold -7

- L Closing stock is ifaored . ‘ fi'—.:;;'ffg;:?.,_
(d) None of the above ' .. - L

"-'2;.-.5-.' :

>

&

42, ’I‘be main source of income of non-proﬂt organ&aﬁon axdis

‘e “,—--.... ,'-

() - Corporates L,
(b) NGO’ ' ‘T ' .
(c) NABARD, [DB], MSME, RRB’s x

(d) Subscnptxons from members, donations, fin
governmcnt and income from the invesiments.

ancial assistance from
. uccoa o ‘10

Scanned with CamScanner



\rtnership firm are prepared in the same way as those

The final accounts of a p.
just one difference

prepared fora sale trading concem with
(a) Related with the quality of products
(b) Amount of taxes imposed
(c) Related with the distributio
(d) Location of firm

n of profits among partners

Which of the following is a feawre of ‘dissolution of partnership firms’

(a) The business of a firm is closed

(b) The economic relationship between the partners comes 10 an end
(c) Assetsand liabilities are revalued and new balance sheet is drawn -
(d) It necessarily involves dissolution of partnership |

Every compute;ized accounting system has two basic requirements. They are

(a) Hardware and software : - - .
(b) Bits and bytes '
(c) Data processor and evaluation

-

(d) Acf:ounting framework and operating proccd\ﬁré

46. ‘Kaizen'isa Japanese word, which means

(a) Improvement

(b) Mgtivation -

(c) Flexibility -

(d) Labcur tumover Y

47. Which of the follow_iﬁg is the idle situation?
(a)- Authority> Responsibility + .
(b) " Authority < Responsibility .
(¢) Authority = Responsibility -
(d) Authority= Accountability |

0" (P.T.O.
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Vi,

49,

50.

51.

52,

‘Which of the following is thc example of floatation cost? -

aTe ,.. Tt
o N o ll-. ’

Fayol gave nmpbrténcc to which ofth
(a) mcreasg. in ptoductnon

(b) standardisation of work

(©) equity :

(d) techniques

¢ following ?

Route clerk rcs;.mnéi'l.)lle‘for

(a) giving general instruction necessary to carry on the jOb in a specified
manner : |

(b) to fix up the sequence of steps for performing mechanical or manual job,

(c) to fix up the time for starting and completion of job '

(d) performance of job in orderly and systematic way

Which of the following characteristics of profession is present in management?
(2) code of conduct )

(b) professional degrce

(c) restricted entry

(d) well defined body of knowledge

Which consumer right gives the business firms freedom to set up their own

consumer service and grievance cell ?
(a) Righttosafety _ . .
(b) Right to seck redressal

(c) Righttochoose

(d) Righttobeheard °

(a) Printing of prospectus : : "
(b) Pmchaseofrawmatcnal .
(c) Transportation cost :

(d) Cost incurred prior to incorporation of compames y

UCCO/A 12

- e S D s -
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55.

T

56.

57,

State Commnsslon can hear giievances of consumers in the particular state
where the value of compensation claim should be ,

(a) betwee

n? twenty five lakh and T one crore

" (b) betweenT twenty likh and T fifty lakh

(c) between ¥ fifty lakh and ¥ five crore
(d) between T twenty lakh and T one crore

Which section of the Comp

at a discount ?

~(a) Section 69

(b) Section72 .
© Section 8i :
(dy Section 2(36)

Function of management does not include

(a) Planning
(b) Staffing
(c) Cooperating

One 6f the

(d) Coatrolling:

element of Marketing Mix as classified by

(a) Trade mark ..
" (b)” Promotion o, TETTE TR
P () Brandmark 3

(d) Protection

Grapewne is .’

" (a) Formal commumcatlon

(b) Barrierto communication
(c) Lateral cpmmmucat'.oq )
(d) ‘Informal communication *

I Ucco/A

v — —

13

MCcarthy are

N

anies Act imposes restrictions on the issuc of shares
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. '58; Nétécﬁél Stock Exchange of India was ;ccognizcd as a Sto'ck- Bxg:hgngé in 'the_
year i - - .
(2) 1992 || MYFOOT.COM
(b) 1993 - W O TESMYFO0T.cOM
() 1994
‘ (d) 1995 )

59. Mantal Revolution Calls for _
(a) change of mental attitude of workers and management

(b) bargaining between management and workers
(c) higher wages for workers '
(d) workers well-being S

60. A Treasury Bill is basically |
(2) An instrument to borrow short-te;m funds
(b) An instrument to borrow long-term funds
(c) Aninstrumentof capital market
(d) None of the above

61. Cons_mner-equilibrium means
(a) that maxifum satisfaction
(b) that the consumer is in static and unsatisfactory posfttion

is obtained at minimum sacriﬁce

D

(c) that all consumers reach the highest indifference curve sl
(d) that equilibrium of buyers matches with the equilibrinm of scll§$ s
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62.
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o
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g . 63.
=
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ey
e
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=4
ik, .
5%
s

If 2 consumer With a given income and price consumes three commodities x,y

and 2. His satisfaction will be maximum when
MU_E_ MU, MU,
MU, MU, MU
MU [’Jr - MU,
MU y Py P,
MU, _MU, NU;,
Px Py ' P,
MU, _MU, MU,
.P)' .Pz Py

(a)

®)

(c)

(d)

The term “consumer goods” is used by economists to refer to

(2) goods produced for consumers in free market only

(b) goods, other then free goods, whose use directly satisfies consumers’
wants - : -

(c) goods produced by consumers in return for a wage

(d) goods which are used by consumers in order to earn their living

Al:hough a monopolist can charge any price he likes, but does not charge a

higher price than his equilibrium price becuse '

(2) Higher prices means fall in total revenue

(b) Higher price can be charged oaly on that segment of firm’s demand curve -
- which is price. inelastic lmplymg that the margmal revenu 51 will be '

. negative o, |
(c) Itis inconsistent with proﬁt maximization good under monopoly

(d). Maxgmal cost will be negatwc over the relevant range of output

-

~
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A -#hepn& elastlcuy of dcmand is equal to one for 4 demand curve, which is |
(a) Horizontal line
(b) Vertical line |
(c) Rectangular hyperbola
(d) Downward moving line . |

66. The term “Social Accounting” was first introduced into economics by

(a) Marshall
(b) Hicks

(c) Keynes . |
(d) Cooper I ' e

!

67. When Marginal Product declines but ncithér it is zero ngr negative tpcn
(a) Totai product rises at an increasing rate
(b) Total product rises ata diminishing rate
(c) Totai produci uecomes constant
(d) Total product starts declining

68. If the demand of CNG increases as the price of petrol increases, these goods

are classified as

(a) Substitute goods

(b) Complementary goods
() Inferiorgoods = -
'(d) Giffen goods

| - is equal
69. 'o1her mput remammg unchanged then the margln;l product qf .lab?m: ‘ls cq‘ -

to

(a) change in output dmded by change in per unit of labourl
(b) change in output divided by change in per unit of caplta |
(c) change in putput divided by change in wage rate

(d) change in output divided by change in the pncc of the produc{
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70.

.71

72.

The formula for the price elasticity of demand is

Percentage change in quahtity demanded

(a) . .
Percentage change in price
Elasticity of demand -
(b) —
Elasticity of supply
© Price of product Change in demand of product

Demand of product Change in pnce of product :

Percentage change in- pnce

(d) -
@ Percentage change in quantity supplied

For positive skewed data, what is true ?
(a) Mean> Mode
(b) Mode > Mean

(c) Mean=Mode
"(d) Median > Mean

Dispersion measures .

(a) Variation in data
(b) Rclanonships in various data vanablw

© Central values

“(d) None of these

3 -Whicfl ori;é is not true?
- (a) (A'uB')'=AnB.
.(b) A'UB'=A' nB' -

@ AUBF=AE.

. (d) .((A')) =A" '. S e
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d) —(N“+1)-

() l2( )'

75.  Which of the following is the average of position? :
(@ Median - -
(b) Arithmetic mean
(c) Geometric mean

(d) Harmonic mean

7€.  Lorenz curve is used to depict
(a) Commulativzs frequency distribution

(b) Dispersion -
(c) Skewness
(d) Xurtosis

77. If A and B are two indepeﬁdent,events ina sa.niple space then p(A or B) is

' equal to N o
(@) p(A)+p(B) - T T A
(b) p(A)xp(B) . - ' ek n s
© p(A)+ p(B)- p(A and B) s
@) 1~ p(A)x p(B) Lo
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79.

80.

LTI

selfc.ct'cc-i at random from the word “PROBABILITY” then the

A letter is
probability that itis a vowel
2
() m .
k!
.(b) m
4
(©) ﬁ
7 L
(d)

n

“Statistics is a sciencé of avcrégcs" is a statement givcn by
(2) Bowley '

(b) quden |

(c) Kendall

(d) Seligman

Theor;ticalfy, the best average in construction of index number is
(3) Arithmetic mean .

(b) Median

(c) Harmonic mean

(d) Geometric mean

Gaurav said, “This lady is the wife of the
Gaurav to the lady ? . . grandson °f my mﬂther,}!’ Who is

(a) Father

(b) Grandfather _
() Husband .
(d) Father-in-law-
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32- The ﬁgurc mpl'escms three classes of students in a v:llage How many

83.

85.

educated students are poor ?

(@ o6 o Educated

(b) 19 '

(c) 14 | | % Employed
@ 9 | Poor

Three words in bold letters are given in each-question, which have something

common among them. Out of the four given alternatives, choose the most

appropriate description about these three words '
Naive: Ingénue: Guileless

(a) The terms are connected with bad society manners

(b) The terms are used for criminals

(c) They are technical words used by social workers

(d) They depict various shades of innocence

If SPAIN is written as €&512 and FRANCE is written as 795243. How is
AFRICA coded as |

(a) 578915

(b) 579845

() 579145

(d) 578945

What is the distance between city Aand C 7

1. City A is 40 kms from city B

2. City B is 30 kms fromcity C )

(a) If statement 1 alone is sufficient but statement 2 alvne i is not sufﬁcncnt

' (b) If statement 2 alone is suificient but statement I alone is not syfficient

(c) Ifboth statements 1 and 2 together are sufficient but nclthcr of statements

alone is sufficient
(d) If statements 1 and 2 together are not sufficient '
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86.

87.

Jﬁ"' 'A "'I

89.

90.-

UCCO/A

' Find the gain or loss %

One da)'v Ravi léﬁ home and cycled 10 km southwards, turned rfght and cycled
S km and again tued right and cycled 10 km and turned left and cycled
10 km. How many kilometres will he have to cycle 1o reach his home straight ?

(a) 10km
‘(b) 15km
(¢) 20km
(d) 25km

Saving is a function of

(1) investment

(b) export
(c) improvement in productivity

(d) income

110, 191, 255,304,340, .

(a) 345

(b) 355

(c) 365 B

(d) 378

Héney was twice as old as Vani 10 years ago. How old is Vani today if Honey
will be 40 years old 10 years hence

(a) 20

~ e T

® 25 | S E
© 15 ~ . ‘ J

@ 35

A-shiopkeeper- purchased 200 bulbs for Rs. 10 each. However 5 bulbs were
fused and had to be thrown away. The remaining were sold at Rs. 12 each. -
(a) Profit 17% , .

(b) Loss5% R

(c) Profit12% -

(d) Loss 13% . “

21 [P.T.O.
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91.‘

.92,

93.

94.

9s.

v A\

Which of the following industries uses limestone as a raw material ?
(a) Aluminium ‘

(b) Cement

(c) Plastic

(d) * Automobile

What is the full forin of TIDE ?

(@) Technology, lnfonnaﬁon, Dcveiopment and Enterprises

(o) Technology Incubation and Development of Entrepreneurs
(c) Technological Information of Digital Enterprises |
(d) Technological Infoermation of Digital Entreprencurs

Which IIT has launched an app ‘Roshni’ to help blind identify notes ?
(a) IT Kanpur

(b) IIT Ropar

(c) IIT Indore

(d) I'T Bombay

The Sustainable Development Goals (SDGs) which were adopted by the UNO
in place ofthc Millcanium Developnicii Goals (iiDGs), 2013, aim 1o achieve

the 17 goals by the year

(a) 2020

(®) 2030
(c) 2040
(d) 2050

-

Wh:ch one of the following is not a national park ?

' (a) Sariska

(b) Dachigam
() Rajaji e
{d) Corbett . '

UCCO/A - 22
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96.

97.

98.

99.

100.

mment, "Depd:{it Free LPG Connection’ is

Undcr which schcmc of the gove .
ileged, as mentioned in the socio-economic

provided to the poor and underprivi
and Caste Census, 2011 7

(a) Pradhan Mantri Kaushal Vikas
(b) Pradhan Mantri Ujjwala Yojana
(¢) AYUSH

(d) Saubhagya Yojana

Shakti Sthal is the memorial site of which prime minister of India ?

(a) Rajiv Gandhi

(b) Jawaharlal Nehru
(c) Indira Gandhi
(d) Mahatma-Gandhi

-

Which one among the followirfg was not a demand of the Prarthna Samaj ?

. (a) V/omen education

(b) Widow remarriage
(c) Raising the age of marriage for boys and girls
(d) Abolition of Untouchability S

‘Dhyan Chand Award’ in sports is given for
(@) Life time achievement in sports

(b) For eminent coaches J,
(c) For a player who has performed well in last 4 years |

| (d) Top overall performance in inter university tcurnaments

. . \

What is 'I'har.g-taa ?
(a) Name of a famous waterfall of Meghalaya ’
(b) Name of a bird sanctuary of Arunachal Pradesh
(c) Name of a wild river of Myanmar B

d A mamal dance from of Manipur '

UCCO/A -. 23
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-

92.

93.

04.

95.

Which of the following is not a Fundamental Right ?
(a) Right to Equality

(b) Right to Constitutional Remedies

(c) Right against Exploitation

(d) Rightto Vote

WTO was established on
(a) 15 April 1994

(b)- 1 January 1995
(c) 2 February 1995
(d) 9 March 1995

Who is the Secretary General of Unitccl ‘Nations ?

(a) Antonio Guterres
(b) David Morgan
(c) Ban-ki-Moon

(d) Joseph Blatter

Which is India’s highest literary award ?

(a). Bharat Ratna

(b) Paramveer Chakra
(c) Saraswati Samman
(d) Jnanpith Award

Goods and Service Tax had replaced all

(a) Directtax

(b), [ndirect tax
(c) Both direct and indire

(d) Non

ct tax

e of above
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96. “BASEL-II" is related to
(a) Pollution control
(b) Banking sector
(c) Black money
(d) Global warming

97.  Which country has third largest population in world ?
(a) USA -
(b) Russia
(c) Indoncsia

(d) Banglgdesh

98. SAARC was adopted in
(a) 1980
(b) 1985
(c) 2007

- ——

(d) 2011

99. The third generation ‘fire and forget anti tank missile’ that. was recently ==

fired by DRDO is

(a2} Amogha-1 7

(b) Nag

(c) DRDO Anti Tank Missile
(d) Dhanush '

100.  Who won Nobel Peace Prize in 2017 ?
(a) UNESCO
(b) Juan Manuel Santos
(c) Barack Obama
(d) ICAN

VR(CE/R 11 P 1O
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Answer Key B.Com. (Hons.) Admission Test 2019-20
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SERIES: A
Q.No. Answer Q.No, Answer Q.No. Answer
[ D 41 A 81 D
2 ¢ 42 D 82 C
3 D 43 C 83 D
4 A 4 C 84 C
5 B3 45 D 85 D
6 13 46 A 86 B
7 C 47 C 87 D
8 A a8 C 88 C
9 C 49 B 89 A
10 B 50 D 90 A
11 C 51 D 91 B
12 D 52 A 92 B
13 B 53 D 93 B
= C 54 B 94 B
E A 55 g 95 A
16 C <6 B 96 3
17 B 37 D 97 C
18 A 58 B 98 D
19 C 59 A 99 A
20 D 60 A 100 D
21 B 61 A
22 B 62 C
23 C 63 B
24 A 64 A
25 C 65 C
26 b 66 B |
27 B 67 B
28 B3 68 A |
29 A 69 A
30 C 70 A |
3 A 71 A
32 b 72 | A
33 C 73 I B
34 C 74 | A
35 B 75 | A |
36 B 76 | B |
37 D 77 | C
38 D 78 | B
39 A 79 A COORDINATOR
40 D 80 D Dated: 12.04.2019
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